Wp=1,01
Fr=0,31
W=0,98
N=0,57
H=0,63
ZH=3,23

Przekréj 83-83
km 4+050

Wp=1,03

Fr=0,31
=0,17
=1,08

ZH=3,50

W

N=0,96

Przekréj 82-82
km 4+000

P.P.60 m.n.p.m.

Wp=1,11
Fr=0,34
W=1,01
N=0,39
H=0,85
ZH=2,97

Przekréj 81-81
km 3+950

-2.0%

s _go%

Wp=1,14
Fr=0,35
W=0,97
N=0,39
H=0,70
ZH=2,70

Przekroj 80-80
km 3+900

-2.0%

25 _60%

P.P. 60 m.n.p.m.

Wp=1,16
Fr=0,35
W=0,76
N=0,59
H=0,70
ZH=2,62

Przekrdj 79-79
km 3+850

-2.0%

D

\7'7.5 -6.0%

Wp=1,13
Fr=0,34
W=0,59
N=0,75
H=0,87
ZH=2,90

Przekrdj 78-78
km 3+800

P.P.60 m.n.p.m.
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